NKUHT

o Hp ERME TS FEREA

CEE RS EEY
WEEY ERE EF V2O Ty £

& ul ¥ W 4P LEE | BB RS R B A
Ml R e 9 666 644
(F+) 8 5 3 648 582
ey TR E L B e 15 680 632
AR I B3 30 656 626
(1) T HEEER 14 647 581
o R BrE B e 14 676 624
R ERSEE P L B e 14 642 621.5
(F 1) FE¥ 4 615 606
(1) T HEEER 8 606 578
B EE B 2 664 619
(1) hEHE N 19 616 585
B AR T R va 28 650 618
KICE-BL R va 13 638 616
BT e R EAHFEL B 12 648 614
(B 1) BE¥ 6 622 604
¢ B B e 13 648 614
J&* Pk hEEPER 24 586 508
Fepesl 8-S | ZHEFHE 9 618 579
RepEs 18 -Fur | EEEFTH 6 635 597

Mo PRI L F el S P 2 AR E XX+ E - 2+ & ¥ - x2

MAF G REE TRAREIY  d 33 MR -

FomE b oA fedn 4 7 g (http://exam.nkuht.edutw/) 2. ¥ LR 3L Q&A ) B FT o

2015.10.01

=)



http://exam.nkuht.edu.tw/

B m PP FINERE A B - e (e )R F /A s e

R ST
R RN JLE. 552

f T RIS E I

KECE-RLgH

BT g B4 gk
Bk 8 1 - e
N
B B
¢ BHE

- : Bt B
e P
R ESRE R

O | Ol W[ N[ W| OO NI N W|W|O| w

BTG RAHFI )

7
]LI‘%?IE—'_,:‘ 3
oo ﬁcﬁ%&fr'ﬂ" S ARE QHEH L AKEL -

=i
N

g b A4 4 53 e (http://exam.nkuht.edu.tw/) 2. T LR AL Q&A Y p AT i *
2015.10.01


http://exam.nkuht.edu.tw/

LTI LIAEAR S LE

PR R4 1 B M A BT Ak 2

* B B-RER B ERE | 22
% Rl = g b
#® A | BRlRy | Rl oA B 4 4%
o " i ot |k | W | ® | Bc | AR | p | BB | F3F | A&
L WA
AR IT 3 61 86.67 | 1 | 2 | 1| 0 | O | 50% | 50% |87.75
B P 2 61 8400 | 1 | 2 | 1| 1| 0 | 40% | 60% |88.07
PR R K 2 58 7733 | 1 | 1 | 1| 1 | 1 | 40% | 60% |84.80
7R BHE 2 66 8800 | 1 | 1 | 1 | 1| 1 | 70% | 30% |89.20
EE 2 58 8333 | 1 | 2 | 1| 0| O | 40% | 60% |87.40
Y R 2 63 8400 | 1 | 1 | 1 | 1| 1 | 60% | 40% |90.00
fy T FRﬁ»? EL 2 59 8400 | 1 | 2 | 1| 1| 0 | 70% | 30% |87.90
R ESEE R 2 59 8111 | 1 | 2 | 1| 1 | 1 | 70% | 30% |89.22
BT ¢ R ﬁﬁﬂ?cal 2 60 8333 | 1 | 2 | 1| 1| 1 | 30% | 70% |86.90
&t P E 1 53 8667 | 2 | 3 | 0| 1 | 0 | 30% | 70% |92.03
e* EE X 2 49 9333 | 2 | 3| 0| 1| 0 | 30% | 70% |97.70
IR R Lt i 2 60 9444 | 2 | 3 | 0| 1| 0 | 30% | 70% |91.33
R EEy 1 88 6 58 8095 | 2 | 2 | 1| 1|1 | 30% | 70% |87.67
FIlFE N R - ERER L E MRS S[FEAEAE S 5B SR & A X100

B 5|+

104 MEHES LR - RHRA% B2 w28 82 w2 )
LR A RAELR
At R 145 #1354
(14x2.0+13x2.0+7x1.0+8x 1.0+11x1)/ [ 15%(2.0+2.0+1.0+1.0+1.0)] x100=76.19

DR T A AL g B A

BRIl as

B AL B

% % > 55

VAL €

(P2 x4e B B HctE 2 XS Bt B X Ao BB etk € x4 R et p Ax e B B #)/ [F #1538 B s x (Ao 5 ficte i)
(FEI By - e Y= 48T ~)
2.5 - FFEE PR B R MRS, AT VEN AR I BFERBFF e FEEA)
B3LPd B MEP L =PI +TFFE > - Pt o 1004 H A5 SN
542 HR AT o
B P R RS RE S
i vl Fl [ B L | ed A | B
BAE Lk - %2 50 88.90 72.13
S BEREN 0 - -
MEGF has= [Rp 2 d] x20%+ [26 F4% 4] x30% + [5 32] x50%
FrUmE b ohfedn 4§ (http://exam.nkuht.edu.tw/) 2. T LR AL Q&A y BT R 73

2015.10.01



http://exam.nkuht.edu.tw/

L~z HEBIMEF i

B8 4

i wl #u P LHR | BB DA d | B MDA di
BoRig- A s 50 485.30 440.16
5% = 1a :‘4
FRE, B RS A 0 - -
, Borgg- Al 50 504.48 445.24
2, &3 Tal :2
R Tt TN - :
o BoRig- A s 50 477.25 436.47
HER R RoRETRBL | O : :
Bk Al 50 490.32 432.83
A7 ﬁ%] PRZZ"F»' lﬂ" iy 5% _‘;/Eiéﬁl—*jriéi 0 _ -
, Bk 30 478.81 430.37
sz T =
CEEGRHER S D mmms | 0 i i

K[ ~ Biplsk

s Z BB o REEEL

FEA RS ] x60%+ [F (7 )EE
"RAsEA TR ERNER A T ET s  + TEBL S 4k

= Fx4])] x40% =

*E R A
SEE

2015.10.01

Jiw] # | s AR S L s AE Y
TR T - a2 50 88.33 75.07
S ERE 0 - -
BAE Ik - %4 40 92.20 83.20
S REIEN 0 - -
Sk - %2 50 94.90 84.90
Y 0 - -
i TR E I -2 50 96.20 79.87
o A& 0 - -
MepP-oB= [ 5 F4% 8] x40% + [5 32] x60%
FrUmE b ohfedn 4§ (http://exam.nkuht.edu.tw/) 2. T LR AL Q&A y BT R 74



http://exam.nkuht.edu.tw/

K104 B 2R +ARTI BRI FEH T1048ERG %I
é’ué‘é/\%‘?rjﬁé‘fﬁ(r‘sé’a‘&i‘iﬁi&@‘ EF) o

TR S NN EE

B AR
;,’;,_JF]E 42X n IRJ«';‘/;:\’;“ k= “-%"E‘
b A A AR 4 ’?ﬂ;ija 245
B AR A
A K 68.5 24.5
P~ LR SRR
i B (R
=] /:; l{‘ 2 /I&
“i i ) B g | B g |
4R e | B car | F
%7 s v %7 o
ELr(A$77) 3 87.53
DA BLF(A 8 & 1) 2 87.53
v 8 gm
FEEA e 8+2 82.07
LR Y 12 10 85.13
o - - s (%) 11+2 13 75.17
BT
B FLd 20 20 81.95 1 79.86
LA A AR | - are 5+1 5 82.51
o B (%) 3+1 85.17
o -z 6 6 83.4 1 82.67
BRET YT
ARG LA 12 12 84.81 3 82.6
RERFTFFRLER | -220 5 5 82.48 2 74.93
g iz R4 () 3+1 81.18 1 75.82
i i 22 R OPR AR F A - x4
s B 6 6 80.2 4 76
1 8Bz
&3t 103 97 12
M ERET ARI04 8 & RALFIEE B4 0 FEB AR » FF AL 2
BAE o ENAALITI S T RGBAFED A 0 B r 2Rt LA B2 L B0

/“ ‘\J: 5
fe o F 2

- A AR L@ AR R

FoL P A8 O7 & 4R A 8126 &0 55 5 76.98%

FomE b oA fedn 4 7 g (http://exam.nkuht.edutw/) 2. ¥ LR 3L Q&A ) B FT o
2015.10.01

=
vl



http://exam.nkuht.edu.tw/

